Set A

Scenario 1 0.2137 (0.2011,0.2264) Scenario2  0.5738 (0.5567,0.5908) Scenario3  0.2125 (0.1994,0.2256)
@ N1 & 11 @ N1 -t @ N1 “
- N2 - N2 - N2
Noe1 @ Nos2 @ No:2
Nos1
NA
t1-DB1
= t1-DB1 = t1-DB1
t2-DB1
- 0 = 0 0
Cluster 3 Cluster 5 Cluster 5 Cluster 3 Cluster 3 Cluster 5
SetB
Scenario 1 0.6098 (O_5970Q_6227) Scenario2 (0.3246 (0_3120’0_3371) Scenario 3 0.0656 (0.0594,0.0718)
@ N1 1 @ N1 I o N1 t1
@ N2 @ N2 - N2
® N3 ® N3 @ N3
N noe1 | S Nad woe1 || = N7

Cluster 1

t1-DB1
t2
t2-DB2
| :
&1

Cluster 5 Cluster 3 Cluster 5 Cluster 1 Cluster 3 Cluster 5 Cluster 1 Cluster 3
Set C
Scenario 1 0.5839 (0.5750,0.5927) Scenario2 0.2034 (0.1963,0.2104) Scenario3 0.2128 (0.2058,0.2198)
N1 N1 N1
@ N2 t @2 u N2 u
@ N3 @ N3 @ N3
@ No:3 @ Nos3 @ Nos3
@ Nos1 t1-DB1 || @» Nost t1-DB1 || @ Noot
t1-DB1
t2 t2
t2
t2-DB2 t2-DB2 2-DB2
0 0 0
Cluster 2 Cluster 5 Cluster 3 Cluster 5 Cluster 2 Cluster 3 Cluster 5  Cluster 2 Cluster 3
Set D
Scenario 1 0.6344 (0.61 56,0.6533) Scenario2 (0.311 (0_2926,0_3295) Scenario 3 0.0545 (0.0469,0.0622)
@ N1 o N1 ® N1
®N2 t ®N2 t N2 t1
@ N3 ® N3 @ N3
@ No:3 @ No:3 @ Noe3
@ Noal t1-DBT | @ Noat t1-DB1 f| @ Noot
t1-DB1
t2 t2
2
t2-DB2 t2-DB2 2-DB2
0 0 0
Cluster 4 Cluster 5 Cluster 3 Cluster 5 Cluster 4 Cluster 3 Cluster 5  Cluster 4 Cluster 3

Additional file 9. Set A, B, C and D of scenarios in DIYABC of Actinidia eriantha. Posterior probability of each scenario

obtained by logistic regression of 1% of the closest simulated datasets is shown on the top of the scenario. Scenario
outlined in red is the best option.



